
Calculus II

Asymptotes
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Writedown by inspection or otherwise,

thevertical and horizontal asymptote
oftheCurve

3xy +5x
- 4y - 3 =0

Sol Given Cove is
-

3ky +5x -4y-3
=

0

(3y +5)x - 4y - 3 =0



Asymptote II to x-axisis

3y +5 =0

horizontal asymptote is34 +5=0

Sky + 5x-4y-b
=0 (Givens

for vertical asymptote
(3x - 4)y +5x - 3 =0

3x-4 =0 isvertical asymptote



② Find theasymptotesparallel to an of

thecurve

ney - 32 - 5xy +6y +2 =0

(y - 3742 - 5xy +6y +2 =0

Asymptote 11 to x-arisis

y - 3 =0



ndy - 30" -5xy +by +2 =0

(2 - 5x +1)y - 34+2 =0

22 - 5x +6 =0

22 - 34 - 2x +6=0

a(x - 3) - 2(x - 3)
=0

(x- 2)(n - x) =0

... Asymptotes II to y-amisare


